Adding/Subtracting Decimals (H)

63.3+4.9 =

97.6 + 69.5 =

72.16 — 64.6 =

44.69 + 26.98 =

68.8 — 8.3 =

51.3 +5.69 =

18.97 — 8.6 =

61.03 — 9.58 =

96.4 — 7.5 =

232456 =

Calculate each sum or difference.

89.94 + 88.6 =

722 —-25 =

80.92 — 6.3 =

725+2.1=

48.1 — 8.09 =

9742+ 3.3 =

375+ 7.5 =

87.98 +8.97 =

40.6 — 5.98 =

66.1 + 3.8 =
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Adding/Subtracting Decimals (H) Answers

63.3 +4.9 = 68.2

97.6 +69.5 = 167.1

72.16 — 64.6 = 7.56

44.69 4 26.98 = 71.67

68.8 — 8.3 = 60.5

01.3 +5.69 = 56.99

18.97 — 8.6 = 10.37

61.03 —9.58 = 51.45

96.4 — 7.5 =889

23.245.6 =288

Calculate each sum or difference.

89.94 + 88.6 = 178.54

72.2 =25 =069.7

80.92 — 6.3 = 74.62

725+21=T746

48.1 — 8.09 = 40.01

97.42 + 3.3 = 100.72

37.5+7.5=45

87.98 +8.97 = 96.95

40.6 — 5.98 = 34.62

66.1 + 3.8 =69.9
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